Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

[Registration No.

Name

Test Venue Skymoon IT Point Pvt. Ltd
Test Time 10:00 AM - 11:00 AM
Test Date 04/07/2019

Section : General Intelligence

Q.1 fF=faf@e sigen & ust g (?) & Tu= wR FiF-wf Hear anafi?

15, 43, 83, 137,207, 2
Ans X" 1297

75 2.292
/X 3.294
of 4.295

Question ID : 98958015850
Status : Answered
Chosen Option : 4

Q.2 3R ‘REGIONAL <l '185791514112' & 3U H shiSes forar a1 & af 3¢t urwr & ‘PICTURES' <Rt
& RIeag frar sTem?

Ans X" 1.1693192117523
/5 2.1793202118520
o 3.1693202118519

/5 4.1693202219520

Question ID : 98958015836
Status : Answered
Chosen Option : 3

Q.3 f=fafaa ar dEarsi & @ = dw=ad ga Affa adah @ vas St & ofk ues S e g1 ag
T gA Sit o SeEeneil @ st g1

Ans  of 1319
X 2.317
/X 3.347
/X 4.349

Question ID : 98958015851
Status : Not Answered
Chosen Option : --

Q.4 39 fdrea ol g ot AR SieR-ag 9 It avg Hafda & 9 qERT o1aR-99g ued aR-"Yg 4
eifdd g1

RDPC :NHLG : : SKDG : ?
Ans X" 1.00YK




W 2.00zK
75 3.NOYK
/X 4.0PzZK

Question ID : 98958015837
Status : Answered
Chosen Option : 2

Q.5 In acode language, ‘POSSIBLE’ is written as ‘QRUUDKGN’. How will ‘FAREWELL' be written

Ans

as in that language?
75 1.CHGTGYMM

/5 2. BHGUGYNN
of 3. CHGTGYNN

/5 4.CIGTGZNN

Question ID : 98958015835
Status : Answered
Chosen Option : 3

Q.6 v Yoo areh TREet o Fr sy A & F T F B R v mw Beed F ¥ s e

Ans

¥ @ ane ofie @ eden o ¥ A 9w Yo Sar R

L

=3

|

Y

[

i

151

|

=

;

L

Question ID : 98958015856




Status : Answered
Chosen Option : 1

Q7 pm gdor @ & o el F @ A @ S, A gy i wd g oy @ g

BVCz21Qf
"« jplISIJVve

~¥OTCTIIVA
~1QrsIdva
~3ODISSIAS

Question ID : 98958015857
Status : Answered
Chosen Option: 3

Q.8 ?mﬁﬁmﬁm&mmméﬁﬁ%mwaﬁmﬁm
1
(94, 44, 82)
Ans X" 1 (64,58, 42)
/X 2.(98, 68, 86)
75 3.(78,40, 88)
W 4.(48,31,76)

Question ID : 98958015849
Status : Answered
Chosen Option : 4

Q.9 3erdl & I Halo i A ot & TE 31&R siEe & Rk T § shagaR R ST WR sj@e &t
QRT3

TC_MBC_NT_QM_CD_T_QMB_DN
Ans X" 1. QDDBCCN

75 2. TDCBNCD

o 3.QpcBNCC

#< 4.QBCDNNC

Question ID : 98958015839
Status : Answered
Chosen Option: 3

Q.10




T § TE Fr A - feufaat Rond o §1 oW F o vl W U ¥ 99 oy Mg §1 W
e wow W v Rg aef, & 38 sue w e Ry e

V23
X35
Xa2

Question ID : 98958015852
Status : Answered
Chosen Option : 2

Q.11 39 Tz &t gA s G 3¢t avg H&6fa § 5 s Rafaf@a ageaa i ged &6
gl

8,9, 145
Ans X" 1.10,11,121

X 27,8117
o 36785
75 4.6,8,104

Question ID : 98958015848
Status : Answered
Chosen Option: 3

Q.12 ‘AgAd’ &1 'Gherdr & 391 &) Tae & SIA SURT’ T Heie * Al
Ans X1 gferg

X 2.5 m

X 3. T

o 4w

Question ID : 98958015838
Status : Answered
Chosen Option : 4

Q.13 I HEAT-g™H it g+ o194 &t HeEang 34t avg Hafdd & 99 Fefof@e swear-gm & at =g
eifdd g1

53:477
Ans X' 1.55:525
/X 2.43:367

7% 3.45:460
of 4.39:351

Question ID : 98958015847
Status : Answered
Chosen Option : 4




Q.14 fF=fafE@a ar sier-ayEl | @ i sier Tg v AfYa adtd @ g 59 € ofR ga oo 81 39
ST &R HHE it T |

Ans  of 1 RXBU
/X 2.JPSM
#< 3.UADX
/X 4.DIMG

Question ID : 98958015842
Status : Answered
Chosen Option : 1

Q.15 i< aafxat A, B 3R C & Ut SreT-31e T o= AfAAT &1 SRR A, C ot 11 FuQ AT @, at A & ara B
& aRTeR AN gt SIrgEftl A 3R B ST & T e e MAeTae 245 F0d €1 B 3 Ut e wud 82

Ans X" 1118
X 2116
o 3117
X 4119

Question ID : 98958015845
Status : Answered
Chosen Option: 3

Q16 37 a7 3@ FT 9T FL A FEAGET I F T F TIT FF GEG HTOT AT B
T, Agre, @I

Ans

r

X 4

Q@ &®

Question ID : 98958015858
Status : Answered
Chosen Option : 3




Q.17 FafafEa arerin & aifdhes sk e 4 @l 3T T aret 9 RAeea = 741

1. Greq | R ug

2. TS UTe hAT

3. faf@a gfier ok TrenerR smaifSia &ar
4. ug & foIg smdeq mwiAa &=Ar

5. Tafaq Iefieart &t At i deremsr

6. gfh ok amagiRes ufAeror

Ans X" 1.1,4,3,2,56
W 2142356
/X 3.4,1,5256,3

/X 4.4,1,3526

Question ID : 98958015834
Status : Answered
Chosen Option : 2

Q.18 Select the word-pair in which the two words are related in the same way as are the two
words in the following word-pair.

Fossils : Paleontology
Ans X 1. Fungi : Phycology

x 2. Rocks : Astronomy
J 3. Plants : Botany

x 4. Flowers : Zoology

Question ID : 98958015841
Status : Answered
Chosen Option: 3

Q.19 fA=fafad ar el d @ 9 21 gar AfYa a8 @ e S & SR Toh S1ehT &1 39 31 2Aeg; &l
THI

Ans Jlaﬂmﬂ'{
/X 2. g
X 3.5
/X 4.t

Question ID : 98958015843
Status : Answered
Chosen Option : 1

Q.20 57 fame # T+ Forwet 56% UH T & T & A & S Iy X FERa € (gl B g fr
At 7 )

Ans




X2

v &

g

Question ID : 98958015855
Status : Answered
Chosen Option : 3

O A & o argy # Rrae Bee deE 2

/ N\
£

Ans J1 26
<2 25
<3 28
<4 27

Question ID : 98958015854
Status : Answered
Chosen Option: 1

Q.22 A+BaTAdad g ‘A, dgT1 2 B &Y
A-B&raded g ‘A, 31 & B &1’
AxB&wIAaAT g ‘A, afa g B’
A+B&TAdAT g ‘A, AT @ B Y’

3R P+Q+C-D-LxJ &, al J T Q & <1 Hejer 87




Ans  of 1 @
/X 2 ama
X 3.3
X 4w

Question ID : 98958015840
Status : Answered
Chosen Option : 1

OB e & o Y AT F e TUR WA AN S # g

© 0|0

~J

Ans

Ko

Y &}

X
folled[od] e

Question ID : 98958015853
Status : Answered
Chosen Option: 3

Q.24 & Fy Ry g &, o are = fsmd |, 1 iR 111 feg 71q &)1 =il @t @ At gg, st gt
AT R R AT a4 @ e 71 gl, ag fAofa e 6 s=-a1/a A fyu=t ar aifdhea =g
T ITERVT AT &/FA &

II. &S oft Shepar i 7 21
lll. Y TS S Shehel 81 21

Ans X" 1 dvet e | ofR 11 SrgERT A & |




sza‘rﬁtamflmllleﬂumaﬂm%
7X 3. Sae ey | 3R 1| SEROTaRA |
25 4.7 s | 4 1| SIgERUT SR R |

Question ID : 98958015844
Status : Answered
Chosen Option : 2

Q.25 fFr=fafea arfieor @t a@d T & g sa¥ fée 31 Regl @t straw A seern wnfeg?
207 x9+13+26 —301=60
Ans X" 1+ R -
X 2.+ 3%
K 3R
(4.x3ﬁ?+

Question ID : 98958015846
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 WA YRA G uga @reg wsft ______ 9
Ans X 1 TRER eI T

75 2. Rromgered dfeq

#< 3. HIeTT 37get el ST

Vf 4. T s

Question ID : 98958015207
Status : Answered
Chosen Option : 4

Q.2 WRT @ =R & R, 2018 & fA=fafaa # & fha vog 7 9id o1 9as g1 YWsR 82
Ans X-H%@R

o 2. o

K 3. TR

/X 4. mERE

Question ID : 98958015199
Status : Answered
Chosen Option : 2

Q.3 Who among the following pioneered binary logic and arithmetic in computers
programming?

Ans x 1. Noam Chomsky
( 2. Claude Shannon
X 3. Leslie Lamport

x 4. John Backus

[ Question ID : 98958015196




Status : Answered
Chosen Option : 3

Q.4 Which mountains are on India's eastern border with Myanmar?

Ans ( 1. Purvanchal
x 2. Karakoram
x 3. Vindhya
x 4. Satpura

Question ID : 98958015198
Status : Answered
Chosen Option: 3

Q.5 "fa=fta deursil gRT 1uA sreuehifore SRl i gfel e i givadr it gRfga & 8 safds
X "l & SquTd ol f=ifaif@a J & @ gt Sirar 82

Ans  off 1 Tafif e s
/X 2. wifafdes Ty sue
75 3. IRfE T Al srguTa

X 4. ameR e

Question ID : 98958015192
Status : Not Answered
Chosen Option : --

Q.6 23-26 TE 2019 & i T AUTE TgahT it A9 HfEar wia wgl R srmifSa frar mar ar?
Ans  off 1 fyfiforam
7< 2. I

/X 3. 9Ra
X 4.

Question ID : 98958015211
Status : Answered
Chosen Option : 1

Q.7 WRd & Halwa <UraTerd & e gd ~amansfier ot 7€ 2019 ¥ THMER UHROT AT UIfARROT &
Sremet & wu H frger fomar mar ar?

Ans X" 1 o
75 2. areor e
o 3
X 4. IR A

Question ID : 98958015205
Status : Not Answered
Chosen Option : --

Q.8 THE 3¢ HTE &' MTCHRAT & A&k I &2
Ans X" 1 mRer yufd
X 2 Rdeag




/X 3. awza
of 4 R dgaa

Question ID : 98958015208
Status : Answered
Chosen Option : 4

Q.9 TEH R FHfA AR AeEwFER AeTHa wifaera A Fr=fafda § @ wi=-d g 78 foredt oi?
Ans X" 1 sqEErR

X 2. e

75 3. At

W 4wt

Question ID : 98958015202
Status : Answered
Chosen Option : 4

Q.10 ZaTa &t S| gehrs T §?
Ans JIW

X 2. g

/X 3. 3few

X 4T

Question ID : 98958015194
Status : Answered
Chosen Option : 1

Q.11 2019 & Gfaftrer sieRigia Riferda AT Haa & g wiea & Hiva wterd #i fha=
BRTT AT?

Ans X" 1. wrgehet ther
X 2 R g
X 3 s
o 4 iz Prafre

Question ID : 98958015210
Status : Answered
Chosen Option : 4

Q.12 F=faf@a & qudl gt & @ wi=-a1 dien 2igpwrer iR sfist @1 Ieure e & aH sistea &
iR A Tdi g &2

Ans X‘Im
< 2 FrEgTEe
75 3. foarsg
o 4 e

Question ID : 98958015195
Status : Not Answered
Chosen Option : --




Q.13 W @i & R, Igufa sru-T cmTgs fore Hiar 8?2
Ans  off 1 SoRIETRY

25 2. 9Ra & e i

75 3. T & FTafy

¥ 4. T g S

Question ID : 98958015206
Status : Answered
Chosen Option: 1

Q.14 ARG ThicH, YR I FeAUTT el T ag FU @ 5 Tepeft uRar w2 fifeai @ gem st @)
FH AT 1 HaY Y 97a & R wRda asa 9 82

Ans X1aﬁ‘_ﬂ"_§
o 2. dm
/X 3. e
/X 4. ufgm e

Question ID : 98958015189
Status : Not Answered
Chosen Option : --

Q.15 ufiig u=1 st RErR & " gt |4 sefed ar o1 day fohe wea €@ 87
Ans X1 awe

W 2w e

/< 3. sgme

/X 4. st

Question ID : 98958015190
Status : Answered
Chosen Option : 3

Q.16 = & ¢ ari aAfai I=e Y ARt &1 F7H @ - 76 Toa Hi gawt f@ordt 7 82
Ans  of 1 FmRaE

75 2. afear

75 3. dfaR A&

75 4. gumad

Question ID : 98958015201
Status : Answered
Chosen Option : 3

Q.17 A 2019 aah i A & FER, ¥R & 15 3 fasT smai & sremer P=faf@a A @ w7
Ans J 1. G & Rig

X 2. arfdfe g

/X 3. i arg

/X s aERH

Question ID : 98958015191




Status : Answered
Chosen Option : 1

Q.18 = T & Ugelt U} # 2Adeh T AT Ugedl WReA T fehche fAeTt Fafaf@a § 9 o ar?
Ans lea?l?:aﬁa?-ﬁ

75 2. ®mw9ud

X 3. et <if

o 4 R v

Question ID : 98958015209
Status : Answered
Chosen Option: 3

Q.19 mie-#% 2019 # b+ o B Ugufd & ¥ # FfafEa 7 @ ford gar mam ok ray fers
of?

Ans  off 1 JARAR Sieh
X 2. S glaa
/5 3. 93 dRidR
< 4. sifdete gt

Question ID : 98958015213
Status : Answered
Chosen Option : 3

Q.20 ey SRR, AUty U, duete R WEWH ____ & Rt R &
Ans ?{1@1;55%

W 2 e

75 3. Atk R

/X 4. el R

Question ID : 98958015197
Status : Answered
Chosen Option : 3

Q.21 fagy snfde wa wfga dw ofk sieforar fRgfereal fi fZars Rl & ogur, 'vafazor ugafa
gadhich 2018' & 180 321 # & wRa fi Ik sFar 82

Ans X 1157
W 2177
X 3.167
75 4147

Question ID : 98958015200
Status : Answered
Chosen Option : 4

Q.22 72019 ¥, YRd WR&R A fA=faf@a & @ forg e wR ufdsia emar ar?
Ans X1 oret weR

o 2. Sr-Sgen TR afeme

/X 3. Eha-Sa-geTTeda




/X 4. 33 siegEA

Question ID : 98958015212
Status : Answered
Chosen Option: 3

Q.23 #E 2019 #, FAfaf@a & 9 #F9 ANe R fAIRR R 9 A o1 9ad 3ifdes Repls 7@ aren
g &1 g udarRIgt s T AuT?

Ans & 1. garasht
75 2 garsh
o 3. @i e Sk
/< 4 dgg i

Question ID : 98958015204
Status : Not Answered
Chosen Option : --

Q.24 Frafaf@a d @ wib-t ga s sifa fard 78 &2
Ans o 1. Fucwer A

X 2. erawEe
X< 3. 3erRw
X 4

Question ID : 98958015193
Status : Answered
Chosen Option : 1

Q.25 yamTe fi g # sAufa fRAarsh grr Fafaf@a & @ S arr mr ar?
Ans x 1. qeT @A

X 2. smREH

75 3. s

o 2. s @

Question ID : 98958015203
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1 =i F0fea 8% iy 99 Togig s &7 X ¥ Todw 7 9 F% A o 99 & 3T # 720280 &
m%lmmﬁwmmﬂﬁ@w%mmmwm

Ans  of 1. F13800
X 2. 14500
X 3 ¥13500
X 4 714200

Question ID : 98958015945
Status : Not Answered
Chosen Option : --




8

ez |, #wmﬁm@ﬁqq—, Ifg cosecd= 1.25 &, ar

4tan® —5cos@ T T %,:
secB+4cotd
v
X2
X 3

X 4

Ans

e S TR I I O S O

Question ID : 98958015955
Status : Not Answered
Chosen Option : --

Q.3 fRar T &5 3N (3 ATE) 9 9§ T HET, 2014 - 2018 F e et Fuet & e st s
(@3 TIT #) g

Revenue and Expenditure (in ¥ crores) ofa
company during 2014 to 2018

= v 375
= = 320 =
260 o 275

250 225
200
- uRevenve
100 nExpendinre

50

0
5

014 201 2016 2017 2018
Years

2015 3T 2018 # #9 & A T=iea aur 2014 3T 2018 & 30F =TT T 3T FT §2

Ans X 1.5 : 4
<213 :10
K37:58

vi9:7

Question ID : 98958015958
Status : Not Answered
Chosen Option : --

Q.4  10-37" $r FE TwaT 75y97405x2 ITE 72 ¥ Remsw ¥, & x ¥ wfwaw AW F B, (2x-y) T A=
ER

Ans X118
X 2 21
X3 24
V12

Question ID : 98958015946
Status : Answered
Chosen Option : 4

Q.5 Ffrdlr T TgEeT B AHET SC 20 cm 3T 10 om § 3T sEEr FHATR AT TH-gEY % wEe
¥ ofy swerr S9Fa 180 cm? ¥, A ede WA s H FES (cm H) w7 E?




Ans 1 11
X215
v's 13
X412

Question ID : 98958015939
Status : Answered
Chosen Option: 3

Q.6 uw yorEmEr 45 fAe # ve TS i 9w = €1 Afe s wfF 5 kmvh FA X & AT, & 3 &
gt T ==t § 3 e A @ §1 gl (km #) &

Ans X1 B4
X2 80
V'3 60
X 4 54

Question ID : 98958015938
Status : Answered
Chosen Option : 3

Q.7 AABC we am faeer ¥ oW 4B #fOwaNT (obtuse) 1 CB 1 D de @emam w4 § #iX AD, CB =X
gaa g1 I AB = 8cm, BC = 7cm 3T BD = 4cm, & AC ST&T &

Are X115 @
X2 14 TAT
X312 3
v 413 A

Question ID : 98958015954
Status : Answered
Chosen Option : 4

Q.8 © Fg = 5 9 & AB ©F =T & C, D 3N E Ty, 3cd W AB #T oF &% 30 N ¢ %
ABEDC ws 9= &1 &0 ACD 3t DEB &7 I giem:

Ans X 1. 2250
X 2 240°
X 3.180°
v 4 270°

Question ID : 98958015952
Status : Answered
Chosen Option : 2

Q9 vH ZFFER U A B TS FET T 25% FR AT HI §| 9E A-wtus Fer AT qew
FTar & AT O A, iR How & 409% B T W A= ¥ GEEER @ anst @i St §

Ans X 1. @it 8.75%




X 2 E‘.‘I‘ﬁi‘, 12.5%
5 3 omeT, 10.5%
W o o, 12.5%

Question ID : 98958015941
Status : Answered
Chosen Option : 4

Q.10 0°< 8 <90° ¥ BT 3T secB({1—sinB8) (sech +tand)

Ans X' 1. cos @
v 2 sin@
& 3. cosec®
< 4 secH

- =g Ak W

Question ID : 98958015956
Status : Not Answered
Chosen Option : --

Q.11

Ans x 1. 36
v 2 33
X3 35
X 4 39

T x2—6x+1=0 ¥ ar (x4+xlz)+(x2+1) T A T

Question ID : 98958015949
Status : Not Answered
Chosen Option : --

Q.12

Ans

Ko 8%
X2 132
V72
X1z

L - . o e L 1 ¥
3X6+40f6—6+2X(4—6)+4—2X3+6of H FLelpd A &

Question ID : 98958015947
Status : Answered
Chosen Option : 3

Q13 mpcF BCRFEMG Do & LBAD:%LADC, /BAC= 87° #HIT 2C = 42°| <ADB #r

AT AT §?

Ans x 1. 68°




v 2 78°
< 3. 94¢
X 4 102°

Question ID : 98958015953
Status : Not Answered
Chosen Option : --

Q.14 A T F17 77 40% oF R F FT TFaT § 3T B I FT I 30% O Bt F ww mEar f ot A
T WY HE FH ST qE o, Afea & fGE % ag B @ & o g At A ° sl @
W FH e Rt # ae gam?

Ans X1 g
<210
X315
V12

Question ID : 98958015937
Status : Not Answered
Chosen Option : --

Q.15 2200 iy &g & & W &7 Fege Wl e § | 39 & v & 10% gl W aer = g afy
=T & FEGE 3T g W A e § T [T F-G WX 20% et gifh g S, & g awgatt 9w s #v
gierT & §7?

Ans X132
X2 30
X3 28
v 35

Question ID : 98958015943
Status : Answered
Chosen Option : 4

Q.16 fe=r 7w €3 MW (IX ) T I FT 3, 2014 - 2018 F S B FO F e AT e
(5 T9T #) = g E

Revenue and Expenditure (in ¥ crores) ofa
company during 2014 to 2018

375
40 =0 350
300 300
ol ] £ 275
50 s
200
uRewenve

150
100 nEmendire
0

o

2014 2015 2016 07 w18
Years

w78 # Torem # wioed 3% 39 o a9 &1 gear # 5% 3 8% % @7 §7
Ans 1. 2015

v'2 2018

X 3 2017

X< 4 2016

Question ID : 98958015960
Status : Answered




l Chosen Option : 2

Q.17 Rzr srar g5 3@ (S W) o= a¥ v EfY, 2014 - 2018 F i R uer ¥ vees o =

Ans

(F05 9T H) I g2 8

Revenue and Expenditure (in ¥ crores) ofa
company during 2014 to 2018

= =0 375

= w0 320 100

260 Py 175

250 225
200

- u Revenue
100 n Ependitre

50

o
5 2018

2014 201 2016 7
Years

I 2016 & 2018 & F9a 1 Fol 559, 9T T§ H FAY F Fol Toka F (el Sered
(T F i) §2

X< 156
X2 53
X 3 54
v 4 BB

Question ID : 98958015961
Status : Answered
Chosen Option : 4

Q.18

Ans

0°< B <90° F AT, 3¥X 2cos?8=3sinf g, a
(cosec?® — cot?B + cos20) T AT &

Ko 12
vz
X 3 zi
X 4 23

Question ID : 98958015957
Status : Not Answered
Chosen Option : --

Q.19

Ans

T 8(a+Db)? 4+ (a—b)® = (Ba+b)(Aa® +Bab+Cb?) ¥, & (A+B—C) 1 & FT &7

X1 4
X210
Vs 2
X411

Question ID : 98958015948
Status : Not Answered
Chosen Option : --

Q.20




o AT &5 W (I} ATE) Ui 3% & 3Ef, 2014 - 2018 ¥ @ R e & wees ik =w
(35 T9T H) Fr ZeE &

Revenue and Expenditure {in ¥ crores) ofa
company during 2014 to 2018

375
w
o 300 300
260 275

250 225
200

150 = Revenue
100 u Expendinare

50

o
Yea

250
2018 2015 2016 2017 2018

¥ 2017 & FoaT 1 =09, ¥ 2014, 2015 3k 2016 # sitga vorem (0 o) & Rraw gfeea &7 2
z
X11=
9
v 8=
2
1
K3 12=
3
i
~< 4 11;

Ans

Question ID : 98958015959
Status : Answered
Chosen Option : 2

Q.21 T F HA FEF HT F 12% T semerew g w & bwer T aw F G, 55 e
e ger faam 3T 74800 1 UMY g Fr, AT 3UF I vES TF HT TS T F 80% F e o
FHHT ATl 3T F 27% F4T §7

Ans X 1. ¥14040
V2 F13500
X 3 ¥13959
X 4 711934

Question ID : 98958015942
Status : Not Answered
Chosen Option : --

Q.22  gemmsit # sitwa 36 31 3fE 75% deanst F ¥ i dEm F 6 S v A7 o oy et & @
g § ¥ 9 uer fIT AT ar gwanait & dea Far g@ene

Ans  X1.37.125
X 2 3375
X 3 36.25
v+ 3825

Question ID : 98958015940
Status : Answered
Chosen Option : 3

Q.23 A 3t B #r a9 o HgI 5 : 3 ¥ AR 3ok 0w o w91 5§ Ay A i W B F ww #
SR §, & A 3R B # 999 1 3 =2 82

Ans X 1.2:3




<23:4
<33
v

== pJ

Question ID : 98958015944
Status : Not Answered
Chosen Option : --

Q24 gfr x +y+z=33wxy +yz +2zx = -18 &, & x*+y3 + 23— 3xyz = =T FAT &7
Ans X 1. 217
V2189
<3187
< 4191

Question ID : 98958015950
Status : Not Answered
Chosen Option : --

Q.25 ABCD ws =@ agse &, Trwdr s[=¢ AD 3t BC wgaw Rig P = @t ¥ 3iv 3o AB il DC
Teat fig Q o et §1 3R A= 62° FuT LABC=74° &, & 4P 3R 4Q & €9 & W&

Ans X1 440
2 320
X3 23°
X 4. 38°

Question ID : 98958015951
Status : Not Answered
Chosen Option : --

Section : English Language

Q.1 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. He meets me in the same frank friendly way as always without mentioning it.

B. He has owed it to me for twelve months now.
C. I can realise whenever | meet him that he has forgotten that he owes me a dollar.

D. My friend Todd owes me a dollar.
Ans X" 1 CBDA

75 2.CBAD
o 3.0BCA
75 4.ADBC

Question ID : 98958015924
Status : Answered
Chosen Option : 3

Q.2 In the sentence identify the segment which contains the grammatical error.

On Saturday Rahul visited his professor to whom he had an appointment.

Ans X" 1.an appointment




“ 2.to whom he had
X 3. Rahul visited his professor

x 4. On Saturday

Question ID : 98958015912
Status : Answered
Chosen Option : 2

Q.3 Select the word which means the same as the group of words given.

A person who can speak only two languages
Ans X 1 linguist
( 2. bilingual
x 3. multilingual

x 4. monolingual

Question ID : 98958015931
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate synonym of the given word.

AVENGE
Ans X" 1 cheer

x 2. comfort

J 3. punish

x 4. encourage

Question ID : 98958015926
Status : Answered
Chosen Option : 3

Q.5 Select the correct passive form of the given sentence.

The mechanic repaired my car quite satisfactorily.

Ans x 1. My car is repaired quite satisfactorily by the mechanic.
J 2. My car was repaired quite satisfactorily by the mechanic.
x 3. The mechanic was repaired quite satisfactorily by my car.

x 4. My car repaired quite satisfactorily by the mechanic.

Question ID : 98958015913
Status : Answered
Chosen Option : 2

Q.6 Select the wrongly spelt word.
Ans X" 1 nightingale

x 2. neither
( 3. ninteenth
/5 4.nibble

[ Question ID : 98958015934




Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate antonym of the given word.

HASTY
Ans X" 1 urgent

x 2. sudden
( 3. cautious

x 4. reckless

Question ID : 98958015927
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate meaning of the given idiom.

Be an old hat
Ans x 1. be superstitious

x 2. be crazy
J 3. be outdated
x 4. be foolish

Question ID : 98958015929
Status : Answered
Chosen Option: 3

Q.9 Select the most appropriate meaning of the given idiom.

feather your own nest

Ans X" 1. win a competition
X 2. disturb others in their work
x 3. be in a comfortable position

J 4. make money unfairly

Question ID : 98958015930
Status : Answered
Chosen Option : 3

Q.10 Select the wrongly spelt word.
Ans x 1. scheme

x 2. scanty
x 3. scarce
J 4. scenary

Question ID : 98958015933
Status : Answered
Chosen Option : 4

guide the course of a ship especially by using instruments or maps

Q.11 Select the word which means the same as the group of words given.




Ans X 1 sail
o 2. navigate
x 3. travel
75 4. anchor

Question ID : 98958015932
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The ceremony will following by tea and refreshments for the guests.

Ans J 1. will be followed by
75 2. will follow with
75 3. will followed by

X 4. No improvement

Question ID : 98958015916
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate word to fill in the blank.

Darkness over the forest increasing the danger of wild animals.
Ans X" 1 collapsed

X 2. declined

x 3. grounded
J 4. descended

Question ID : 98958015936
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate word to fill in the blank.

Leopards have learned to
Ans X" 1 adopt

x 2. change
( 3. adapt
x 4. prepare

to semi-urban living near Mumbai and Gurugram.

Question ID : 98958015935
Status : Answered
Chosen Option: 3

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The government has ordered that all the coaching centres without fire safety arrangements
housing above the fourth floor be shut down immediately.

Ans J 1. housed above the fourth floor




x 2. house up to the fourth floor
X 3. housed over a fourth floor

x 4. No improvement

Question ID : 98958015915
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate antonym of the given word.

ACCESSIBLE
Ans X" 1 stressed

( 2. restricted

X 3. attainable
x 4. reachable

Question ID : 98958015928
Status : Answered
Chosen Option : 2

Q.17 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. On the morning of April 12, Gopal rose at 5.30 am.

B. Then he drove to the Joggers Park which was four km away.
C. There he met his group of walking enthusiasts.

D. He put on his track suit and walking shoes.

Ans X" 1. CBAD

o 2. ADBC
/< 3.DCAB
75 4.ACBD

Question ID : 98958015923
Status : Answered
Chosen Option : 2

Q.18 In the sentence identify the segment which contains the grammatical error.

The blue lotus is one of the most beautiful flowers which grows in her garden.
Ans X" 1.The blue lotus

J 2. which grows
X 3.in her garden

x 4. is one of the most beautiful flowers

Question ID : 98958015911
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

walk across an
his way down the

In one of the most high-profile localities in the capital, hundreds of (1)
unmanned railway track (2) day to get to school. Lakshman (3)




rocky steps (4) lead to the railway track behind his settlement. He (5) in the
affirmative when asked if the track scares him. "I have fallen down these steps so many times
during the monsoon. But there is no other way to walk to school," he says.

SubQuestion No : 19

Q.19 Select the most appropriate option for blank No. 1.
Ans x 1. people
{ 2. children
x 3. women
x 4. men
Question ID : 98958015918
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In one of the most high-profile localities in the capital, hundreds of (1) walk across an
unmanned railway track (2) day to get to school. Lakshman (3) his way down the
rocky steps (4) lead to the railway track behind his settlement. He (5) in the
affirmative when asked if the track scares him. "l have fallen down these steps so many times
during the monsoon. But there is no other way to walk to school," he says.
SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 2.
Ans ( 1. every
X 2.l
x 3. some
x 4. whole
Question ID : 98958015919
Status : Answered
Chosen Option: 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In one of the most high-profile localities in the capital, hundreds of (1) walk across an
unmanned railway track (2) day to get to school. Lakshman (3) his way down the
rocky steps (4) ______lead to the railway track behind his settlement. He (5) in the
affirmative when asked if the track scares him. "l have fallen down these steps so many times
during the monsoon. But there is no other way to walk to school," he says.
SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 3.
Ans

X 1. was making
x 2. had made

( 3. makes
x 4. make

Question ID : 98958015920
Status : Answered
Chosen Option : 3

Comprehension:




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In one of the most high-profile localities in the capital, hundreds of (1) walk across an
unmanned railway track (2) day to get to school. Lakshman (3) his way down the
rocky steps (4) lead to the railway track behind his settlement. He (5) in the
affirmative when asked if the track scares him. "l have fallen down these steps so many times
during the monsoon. But there is no other way to walk to school," he says.

SubQuestion No : 22
Q.22 Select the most appropriate option for blank No. 4.

Ans & 1 whom

x 2. who
x 3. what
«4. which

Question ID : 98958015921
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In one of the most high-profile localities in the capital, hundreds of (1) walk across an
unmanned railway track (2) day to get to school. Lakshman (3) his way down the
rocky steps (4) lead to the railway track behind his settlement. He (5) in the
affirmative when asked if the track scares him. "I have fallen down these steps so many times
during the monsoon. But there is no other way to walk to school," he says.

SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 5.

Ans  of 1 nods

x 2. shakes
X 3. winks
x 4. salutes

Question ID : 98958015922
Status : Answered
Chosen Option: 1

Q.24 Select the most appropriate synonym of the given word.

SCRAP
Ans X" 1 hoard

X 2. save
x 3. store
« 4. reject

Question ID : 98958015925
Status : Answered
Chosen Option : 3

Q.25 Select the correct indirect form of the given sentence.

The stranger said to me, "Can you tell me the way to the River Bank Colony?"

Ans X 1. The stranger asked me if you could tell him the way to the River Bank Colony.




« 2. The stranger asked me if | could tell him the way to the River Bank Colony.

X 3. The stranger told me that | could tell him the way to the River Bank Colony.

x 4. The stranger asked me can you tell me the way to the River Bank Colony.

Question ID : 98958015914
Status : Answered
Chosen Option : 2




